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FIRST YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
Part — 111
SOCIOLOGY

Maximum : 80 Scores

Time : 2% Hours
Cool-off Time : 15 Minutes

@neral Instructions to Candidates : \

* There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 2V hrs.

* You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time .

* Read questions carefully before answering.

* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.
allepdmdle:deags aalomrideguemad |
* dddleds 272 aerilend mowetied ayoea 15 s eyt soad ense’ pensoeidleno.

* D7 MOVA ¢2REIETHBRSS HEMeo ag)#i@moemo, arlesiaeon] arnealniawe
MSAMICMI aldslg).

* OMDEIBA ag)REMIm aymi 6.019615MB WBALIA LD Alenemo.

* BEMNDS) PSSR, AN@EBG, (HoaniER, agmilal pEmcodlad menm gensoaiidensmo.

K * 321030 nawigaieye mabelalgens’ _ /
' Score Score
PART-A PART - A
Qns. 1-6. Answer all questions. Each 807 QO AR UOOWIES agER G210 IR0
question carries one score, (6x1=6) | pmEmeeasme. an}ampod alme. (6x1=6)
1. Identify the item that is not a feature 1. qwoggany mvoceimnion malevaumaega
: BISHEHAEENT) BEENBBITRE:.
of social group.
a) Persistent interaction a) - aflecm o ooy
. b) @rommosemm eeniowo
b) Sense of belonging
C) “RISTNYOS BREONIO
¢) Lack of structure Q) Sanm@odn
'8}
d) Shared interest : J
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2. The family in which an individual is

born, is called

a) Family of procreation
b) Family of orientation
¢) Matriarchal family

d) Patriarchal family

. A researcher uses multiple methods

in his research. Pick out the most
appropriate concept to refer this

situation.

a) Observation
b) Interview
c) Survey

d) Triangulation

. Protest against or refusal to conform to

prevalent social norms is called
a) Contestation

b) Alienation

¢) Accommodation

d) Discrimination

AT O

Score

2. &) oLyl 2209 SysioeneE) leuoadd

]l Gald

a)  (myaaionm Bysieemio
b) dirodysicsruo

C) BOMYBOWD, SYS06NI0

d) afaysowdes sysi0emio

3. 8@ MEAaHE® O Neauememia

smd@ &»S;eO@® aomaddnend
HIBWIUAHHIM. 0D TVIaD 2106
aflenadlofleaymaim’ aggtiio @M
CWORNDOW aiBo BREETSIBEIH:.

a) oldseemo
b) @ndlayso
c) ovdeqy

d) @lesoemmdnimo

. aafass mongany AIPeeBRaea

H0W)Es (al®GaHWeq? @CUEW IS
Dl s00d QMRomEileae:ewd
£.21QUIMmEN

a) wero

b) @RmMURIBNEEMO

C)  CVBEIESEd

d)  ccudaidial soeieadd
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5. The Science that deals with the web
of physical and biological systems of
which human beings are one element

Score
5. ampyyd e RUSMITZEE @oxlleyo

sﬂmuoouwmromga)om) QUMD 8165
“ReaenHNcl o] dlaiodleanmm veormyo

a) Biology a) edoiveogyo
b) Ecology b)  asdloudiest vooyo
¢) Sociology C)  ayenueoiyo
d) Zoology d)  memyroipo
6. Societies maintains social order without 6. @owIe soemmRONwWOMERU palcwocs

a modern governmental apparatus is #00@D Mojdlsni0 Mlaimbemyrn

known as

MOAYAOETBOE QG oy,

a) Sovereign state a)  aiemouike:on Aoayo

b) Community b) cuayeowo
¢} Stateless society C)  @olayaci® muagaosT3cd
d) Civil society d) eremagane

PART - B PART - B

Qns. 7-11. Answer all questions. Each
carries two scores. (5x2=10)

7 yyomd 11 cunewyeg aggp G210B3)BRBO0
STMROAF)M}B>. ©eNB} GTPID liao, (5x2=10)

7. State the view of Emile Durkheim
about social structure.

7. MIBanjRtSMOWHNC )88 ngeendd
adalderd allessmo wimyoalesie.

8. Complete the chart showing the 8. lanindie: cvoceimBanswe didie monel

difference between primary and
secondary groups.

SUBGESWI0 Q@00 M 2 Tlafeanmn alodg

Primary Group Secondary Group

POV,

— Small group |- Large group

(nJoL0ale; roongioe

ajailw mvorelo

— e.210lw oo

— el mcrelo
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9. Briefly explain soctological
imagination.

10. Define urbanisation.
1. Explain ‘risk society’.

PART - C

Qns. 12-15. Answer any three questions.
Three scores each.

12. Write a briefnote on the ‘transformation
of work’ in modern society.

13. Classify the following into appropriate
‘ columns.
[Degradation of labour, Theory of
natural evolution, Slums, Organic
evolution, Enlightenment, Division of
labour.]

Intellectual ideas Material issues

14. a) Find the odd one :
Ascribed by birth, achieved, fixed,
closed system.

b) Substantiate your answer.

15. List the three basic forms of advantages

that privileged groups may enjoy.

(3x3=9)

10.

11.

AR AR

Score
TORQAOGE2TY TuELLlo 2 el aflvad]
Bl BB,

MUNEAUTREO6MO (D o leeye.

@S TVOUWID Sl M@t afived)
B BE3) 5.

PART - C

12 o 15 cuenwyge sakaimsld agem
wilego ayememarsilas DAMOHRPI ). YO BTPID

afiano.
12.

13.

14.

15.

(3x3=9)

@DWM B Mayad @] ad ‘amodlale
QoD EB06m DML ] 6 elnay
Bl @QoOoHN)e: .

R Ddenman oo Bn0m 6Tl
C21h6) BUSTlea8)0.

[6@0928 @Rataiwe, mopeifle: aldlemon
AL, ¢oiblentd, Hngen e, al@lemomo,
BETIENICWo, 6@ legemo|

eroaUl®, a@eEn | @olke (nJ(geTRLd

a) BREUSTIOM wemsEe
8o a0 apdodleanmal, emd
OWseME. qudlooiwae’, @osemm
Ao,

b) memsyes somocies myoflemmemo
(N{Toer]cn.

(E®YB0UBMIEmEa 88 AlRIWems
mmiEllencd muowimaas aam moer)

48 ENZEIBR 0 IF610 50100,
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PART - D Score

Qnus. 16-19. Answer any three questions.

Four scores each, (3x4=12)

16. “Just as nature shapes society, society
shapes nature.” Substantiate the

Statement with examples.

17. List the major hurdles in ensuring
objectivity in sociological research
and suggest measures to minimise

these hurdles,

18. Compare the educational system
in simple and modern complex

socleties.

19. Analyse the process through which

social order is achieved in rural areas.

PART -E

Qns. 20 -23. Answer any three questions.

Five scores each. (3x5=15)

20. Having access to modern science and
technology does not make modern
cultures superior to the tribal Cultures.
Substantiate the statement with an

example.

PART - D Score

16 qyoad 19 UeWEs ¢.anaymBged agammiayo
Qemepasy pemeeee)m)s. moal Gpod
lano. (3x4=12)

16. (ueyot cvaanemm @gaie)a|SymmIm
®ieatden Majanlo (ateyalow @yl
SO D (AITPOUMOW HEIO®EM

sBglens qadmden)w..

17, avaganwoaiy meinstemermia umy

Tladom eeeidlenmac OS]
miladoeymm towom (@lerunbensod
US00S9 (leflensmbemadd
alagsdlanmailmag @YD
Mdequleeys,.

18. mglmmagmmﬁﬂmmmJ&om@wgnﬂ@:mmm
oo allayospm dlafled WOO®A Jo
2109} obn,

19. wonemea MUOBYAO J(dsDo PO

QURJETYT (el Qfltnsaimo 0.2./QYds,

PART - E

20 qoad 23 cuecwygs ¢anayvegld agamsleyo
WOMERAOBIT HODOODS)®)6:. @oern] aapod
Ao, (3x5=15)
20. @OWIHAE:NMY qusemEle alla | BHEUS
(0 ly@ @pwinile, MoMDIBEMNG BLIVM
omponemmslad ol m’loe:_ymomgmﬂgy.
630} ©BoaNVEMBETOM MenIRwEEmonS 070

(IGPIUMOW 00w BT H67) 8.

FSE 38 Sociology 5/7



AR50

Score Score
. List out the major merits and limitations 21. cmodlom ddesenasion wam
of participant observation. comago aldaloleaio algldaalS;Emie:.
. Compare and contrast the functional 22, a0l MVanE:@Mo MVyRleaym
and conflict views regarding the Al eeaee il afidaanemalos,
ways of establishing co-operation in (TVORRISMAUOB &IF.2ln oSyt ®INMA0 .
societies. .21 O J® JOTVEQSYETDH:.
. Rearrange columns ‘B’ and *C’ so as 23. 6080 ‘A’ aaemoeym dlafiald
to match with column ‘A’. ‘B’ ,'C’ ¢:0868R0D (71 Tld6) .
A B C
Cognitive cuiture Cultural Superiority Cultural exchange
2EMIMICDA> VOPIVO | (yooqpadle avil@yo MRl HOBDIRO
Normative culture Making sense of what is seen { Aryanism
HOM@H MDPINO EHDEMIMUAR TVPUBlnS] @ jrimoe
BN
Material culture Rules of conduct Internet chatting
@l MPOM0 Haln)O0g AISEBR ooy aodloss
Ethnocentrism | Value other cultures Identlltl‘ymg the ring of a
uouflw QRIBBAIMIOS (TVOTPIRETBOS cell phone .
BHEIBOMEUM® alendsomas exruadeandemila dlevsasoend
@@l Slaymey
Cosmopolitanism Use of matenials Not opening other peoples’
aadq) galime QLOWMETBEIOS HAIGONO letters
DRIBEOIDINS BHET 06T
dleoyma
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24.

RS.

26.

27.

28.

29.

AT

Score
PART - F

Qns. 24-26. Answer any two questions.
Six scores each.

(2x6=12)

Analyse any three major environmental
problems faced by Kerala and examine
how these problems become social

problems.

Analyse the factors that promote social
change in urban areas.

Analyse the relationship between
co-operation and division of labour in
pre-industrial and complex industrial

societies.

PART -G

Qns. 27-29. Answer any two questions.
KEight scores each.

(2x8=16)

Define socialization and explain the role
of different agencies of socialisation.

Analyse survey as a method of social
research. :

Critically anlayse the role of different
factors of social change.

Score

PART ~F

24 ayvad 26 cuen®isg ealoriRglnd agemeleyo
POEBENATT SOOI, BT BTRID

allaro.
24.

25.

26.

(2x6=12)
amgo @odlmaledl o lwomeqs alod
crarfsiless (geoellad agip@marlago agOMERo
QeI ealy @oAl af)ETBeMWIET
MUOYA0, [ IRETBEOSMEDMT aldlereoul
BEYn.

MOE MOja0emald qonienjadgo
elato@rodacilafleanimm apiSHwtRud llvess
BIMo 621G b,

aoamoe aljda majeosmglelo
mosslde OO, cvagansmglale
BOEMEISYTN (VDEBOEMOLYO alnkdld
afiegmalie eailepas enimwo allvaeeimo
). QYds.

PART - G

27 ayoad 29 auer@)eg G ta)saRgiad agemelalo
PEENBERETIT SEHEOaY . ag)3 enpod allao.

27.

28.

29.

(2x8=16)
moayadle:eemo afldaiaflef momjadle
a6m (@leld aflalw apmanileaes
al®; QlddaIMo 6).2I1Qs:.
udEOW BA) TVIIANUIITY EOIAHEM

dafiowmm ofald allueseimo
6.0 QY B>.

mogganjmogeriiend aflaflw ceisaemains
sy AJladrmoiane.now alltaselimo
6.2 1QYc.
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